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Write all answers in your blue book. Show all of your work. 



1. Bovine, Inc. is a corporation that has no opportunities to undertake investment projects. Bovine pays out all of its after tax profits as dividends on its stock. Bovine has 10,000 shares of stock outstanding and earns every period with certainty $7,000 in after tax profits. Bovine may borrow or lend at the market interest rate of five percent. 

(a) (25pts) What is the equilibrium price of a share of Bovine stock? Prove that this is the only price that can prevail in equilibrium. 

Suppose Bovine discovers that it has the opportunity to undertake an investment project which would require spending in period 4 all of its $7,000 in after tax profits. The project would provide, with certainty, benefits of $3,200 in period 5 and $4,000 in period 6. There are no other costs or benefits associated with this project. 

(b) (25pts) What now is the equilibrium price of a share of Bovine stock in the current period (period 0)? Explain your reasoning. 



2. Consider two mutually exclusive projects. Project I requires an expenditure at period 0 of $100 and provides benefits in period 1 of $140. Project II requires an expenditure at period 0 of $200 and provides benefits in period 1 of $0 and in period 2 of $260. 

(a) (25pts) Calculate the internal rate(s) of return of each project. Show your work. 

(b) (25pts) Which project, if any, should be undertaken? Be as explicit as possible. 



3. (50pts) Carl, a bar owner, receives an offer from Sally, an entrepreneur. For a total of $4,000 today, Sally offers to lease Carl a cigarette vending machine for the next three years. Unfortunately, Carl must make his decision today, before he finds out the results of the November ballot measure which will determine the Washington state tax rates on tobacco, alcohol and soda pop syrup. If the measure passes in November, tax rates on tobacco will go up, on alcohol will stay constant, and on soda pop syrup will decline. If the measure fails in November, then Washington taxes on all three goods will disappear. If the measure passes, Carl calculates he would sell 5,000 packs of cigarettes annually from his new machine, earning himself $0.10 per pack. If the measure passes, Carl would sell 100,000 beers annually, earning himself $0.20 per beer. If the measure fails, Carl would sell 20,000 packs of cigarettes annually from his new machine, earning himself $0.10 per pack. If the measure fails, he would sell 120,000 beers annually, earning $0.20 per beer. Carl believes that there is a 70% chance the measure will pass. Carl cares only about expected values. He can borrow or lend at an interest rate of 10% Describe the process Carl uses to reach a decision on whether to lease the machine. What is Carl's decision?
